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1|FEE E&E AR FERKE 300 40 150 300 790
2|tk EEE Fa R R AR FE 300 40 300 640
S| 1EF BEEAXEXE 25 300 80 405
3|FH; =X BEERAFXE 25 300 80 405
5L R BRI 25 225 150 400
5|FkHy HHE i XZ 25 225 150 400
G ES RN i XZ 100 40 225 365
8|IUMA M1E N 25 29 40 225 319
IABR KX— faff K= 100 11 80 80 271
1044 FF BEERAFXE 100 20 80 200
NEeR Ex i XZ 25 80 80 185
12)3F Kith BEERAFXE 100 20 40 160
13| K HEH |EREXE 10 29 80 40 159
14|Af ZFX i XZ 10 20 40 80 150
15[ BB |fEFEXE 11 40 80 131
16| E42 A4 f2RE K 10 80 40 130
174t H RIGERXE 1 80 40 121
18| Bk {HIn NN KE 25 2 80 107
19| Elg KX NN ITKE 25 80 105
20(& )1l #hRth i XZ 10 20 40 20 90
21| KX RmE BEERAFXE 2 40 40 82
21|HF FEiE BEEAXEXE 2 40 40 82
23|#% {EAXHR NN ITKE 10 6 20 40 76
24|15 F $RER REEAKXE 6 40 20 66
25| H Rl BEERAFXE 2 20 40 62
261K A ABRKKZE 10 11 20 20 61
27| BB AR FERKE 40 20 60
28| LB B EEAKXKZEZFE 10 1 20 20 51
28| Fl &R AMEEKRE 11 20 20 51
30|{Ef% ARER | AMHEIIKEF 6 20 20 46
NEH -F i XZ 6 0 40 46
32|fEEp 1 faff K= 2 2 40 44
32|FR RF faff K= 2 2 40 44
32|08 5h[i5 i XZ 2 40 2 44
[|=FFH Bt [EERXE 2 20 20 42
36| #11L WA RIGERXE 1 20 20 41
37\FN HEig ERBERKE 20 20 40
378 FE NN KE 20 20 40
37kEA Efd REEARKZE 20 20 40
37|#kE EiE RIGERXE 20 20 40
374 FEE faff K= 40 40
42|HO Fost JLIN 33T K 10 2 20 32
43|k FH BEA REAZERKXE 6 20 2 28
44| TEE BR BREXZE 6 20 26




44|BT 8 H2Z EAZERKXE 6 20 26
44| KF B EEXE 6 0 20 26
44|h¥t IEX EEXE 6 0 20 26
48|#H BH= EAZERKXE 1 20 2 23
48|1EfE =k REEAKXZE 1 20 2 23
50k HF EE EAZEXE 20 2 22
505 H X% REEAKXZE 20 2 22
50| AL HE EEXE 2 0 20 22
50|#A7k  FO#E EEXE 2 0 20 22
54 TZE EH |BERBEEXE 1 0 20 21
S4|KAR 18 R K= 1 0 20 21
54| KF FRK R K= 1 0 20 21
57|f@k —#t NN EEKRE 20 20
57| =M SEH AMEEKE 20 20
57K 8% MEEKXE 20 20
57|%% #hth REEAKXZE 20 20
ST1BH & REEAKXZE 20 20
5711AH XE ABRKE 20 20
57| H SH1E PR EEKE 20 20
64|3 K3 faf K= 6 2 2 10
65|tk &1k Ao KE 6 0 2 8
65\/hp il =X KXo KE 6 0 2 8
67|3ROA K] BREXZE 6 0 6
67K EX U FH T K 2 2 2 6
67[RA fKEH Fu T K= 2 2 2 6
67|01H K& LN FH T K 6 0 6
67\dt¥ = REARKE 6 0 6
675k B/t |EEBEEXFE 2 2 2 6
67|F1% &I EEHEKRE 2 2 2 6
740 #F REEAKXZE 1 2 2 5
74| K% XARBE [BEREXZE 2 2 4
T4[R)] AKEA BREXZE 2 2 4
74 /2 BEAEXE 2 0 2 4
TA[FRIE RN EIGEREXE 2 0 2 4
14BN R EIGEREXE 2 0 2 4
74|58 BX N 2 2 4
4 &H#H H2Z faf K= 2 2 4
82| KA EHi | KHKFE 1 0 2 3
82| K% iIF LRI ILKRE 1 0 2 3
825 H $#%F EAZEXE 1 0 2 3
82|HiE Eth EAZEXE 1 0 2 3
82|h[R #AX EIGEREXE 1 0 2 3
877 [Eth KXo KE 2 2
87(% L BEAEXE 2 0 2
87[HEMT Ki& EAMEILKRE 2 2
87/hE R Fu T K 2 2
81|=¢ Zth EAZERKXE 2 2
87180 w3 EAZERKXE 2 2
87 ft EE REEAREIXE 0 2 2
87|# M 1EAXER |REAKZE 2 2




87[# B&IX REARKE 2
87| K SRXE 0 2
87|54 &R B K 2
87|FEA A fREHEEXE 2 0 2
87[FFT BX fREHEEXE 2 0 2
87IUZzN KZE  [AMKZE 2 0 2
101|XE RE BEREEREKE 1 0 1
101 )11 #K3Eh BERBEEXE 1 0 1
101|f8 5 BRBEREEZH 1 0 1
1018 BREXZEZFE 1 0 1
101|8BX E NIMEEKXRE 1 0 1
101\ KE HIE NINKEEZES 1 0 1
101|IAK 5 NINKEEZES 1 0 1
101|3RH 25 EAZEXE 1 0 1
101)f85k X EAZEXE 1 0 1
10185k —#% EEXE 1 0 1
101K £ EIGEREXE 1 0 1
101|HO &M RIGXKE 1 0 1
101|Fh % $R R K= 1 0 1
101| M8 &B) fREHEEXE 1 0 1
101|Z=HE % =K KE 1 0 1




